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e31+k.e—2x

LAl

u‘.!'(’f)yl.} J_,.'{A‘,'JJ.}J.‘.. A=\
(u-v'+v-u) x=u-v+x* sin x
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y=u'v
S ;
= —CO0S x+; (sin x+¢); x%0

PTIPR RUFPRETE o SIS |

¥ x+y=0

C Ay X4 aSS X FO s

dy__J
dx X
dy_ dx
y ™
In |y|=~In |x|+¢

elnlyl =g -ttxl+er ] . g1

T
B 0
YT %

— , xc'(x)—clx) c(x) clx)
‘5:;,:._59501,&...1\.,.”,&3: dg | Wi e e

i (x) e(x)

= g

S \>u \H.) c'{x)=x-sin x
J.x -sin xdx >[dr:(:c]:J.x-sin xdx
\ *5',)'.' U"*JI l""""-]]ml e(x)= —x-cos x+sin x+k

::'u‘.J?gS___ T AA




(c) ketabton.com: The Digital Library

y=1—‘c(x)
X

t QT
=-—cosx+;(smx+k}; x#+0

7. ¥+ y+cos x —e**=0 o5t \SJY"‘J TP PR
y=u-u=:—y’.—_u-u'+u-u’ v+ +up=e**—cos x

y=fx)=u(x) v(x)

i u(p'+o)+o-u'=e**—cos x
Nyt
=0
dv

—_— -

dx

g= «—jdx
v
/’“‘—‘!

Wihlen: ¢,=0: o 2 \) & In Jol= —x+¢,

p=e *

ul+e ™ u=e*—cosx |-

u' =e** —~e* cos x
u=f(e3‘~e“-cos x)dx
=J'e3’-dx—J-e‘-cosxd.r

S VO [,
Je‘cosxdx =

] -

e“—fc’-cosxdx

éﬁsgﬂjiaﬂdlj&.j!ﬁa F:Ie"-cosxdx

=e* -sin x—fsin x-etdx

=e*sin x—fe’-sin x dx

=e*-sin x—[e‘(—-cas X)— f{—cos x)-e
A4



(c) ketabton.com: The Digital Library

F=e¢*sin x+e* cos ane‘-cos x dx

L A —
F

2F=¢"-sin x+e*:cos x+¢

c=1 o F=e— (sin x+cos x)+c¢
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